1_’\7_ Aeppii and Boﬂ— Chern classes

o X c.et cP|x me
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Im 9@ 2

Boft - Chern <o homdaéxb_:
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Im 929

DO\beau’l". Co homo‘o%ji
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2 Im 9
Note: T2 X is Kahler J then
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35—\emm«: X sofishies the 99-lemma i there holds:
Svepose M € Q%% Lah dM=0. TFAE:
. N> d«

2. M=

3 =

qQ. M= 93’)(

Lem- 1§ X HB‘P'Q' - HaP'q'

satisies 150 mwphism .

92-len  then: E”L]BL = E"’L]g




Iné ective: exevy cise

Sqréeo\'we,‘. Lot E"L]ge ng Solve S o
oM = 99 .

[ms = [-9%x];
[m- 5”‘]& = [M-9%x13

Le_m_'. If X satsfies 93-lem, thev

'S an  i%0 morphism )

P$- injective: it M,=N, + I, + Ja,
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o
)
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then: 394,20 =5 9%, =93% => [nI;-[",].

Sur/sec,‘\'(sle.: exercise.

Note:. In céenexa\ Ha, Hae, Hs are all X fferent,

f\\ov%\\ ‘\'\\ere, i o Poinc.are,’ Aua\i‘tta,

k" n-p,n-4
HA x HBC == C

[dlA [‘3]66 4 So(/\ﬁ
K

D HP* ¢ (Hec“-m-q)*'




Bawk '\'o Strom'\nzev' ss.as‘\'em ;

d(1 ™) b e Hy. ()
b= [, o]
'135(0: el\ (Tr FAF-TrRAR)
o e Hy (%)

az[w - 'R [hh]1-a'R,[9,3)-a" £ ]
Compare with Kahler C‘/:”
dw =0 [w] e H"(X)
You's Thm: 3! Wy € [w].

On o non- Kahler CY,
No‘\'(on 0‘-‘— Kih'e\r c|a$§ bfea.ks m"'o +wo:

(A') Con look for so\n in %Nen a € HM (X)
(,B) Can looK for soln in %Nen bé H::(.X)

Bo'\'\\ approo.c.\oes ho.\le been P\lr$ue¢l
in the \ifferature.

How Yo dedine Aeppk class Ed.]/{

\. Choose Te‘-eevewce melrics (a)i\,\ on T"ox E
Solve E(%\ = Tr |?A$ - Tr ﬁ/\/’\; :

Heve - _ _
E = (93)(33) + (33)(23) * (3"3) 33
+ (') + 35+ 33




E s KoAaiY‘A - SPeY\ceY‘ OPeV'AfOY‘-
= 4t order e\\ip‘h’c o perator

Exercice: Ker Ez Kerd N Ker (33)"
Since €20 (X) = c,B‘(E),

Tr FaF ‘TY§A§ ¢ Im 2.

Fredholm alternative =5 can solve

2. 1% E(¥)=i337, then dJ¥:o0.

3. Define /(3 =-f: (35)1-§ : i33@ = E(¥).

4‘. So'VQ A A
E (X)= T\r RAR" TY‘R/\ R

Define R4 33= (33 ¥.
193 R[g 37= T RaR-Tr RA R
S- Define RLh,h] similarly.
33 RLhh]= T FaF-TrFaF.
6. From
195 (w-o'RLhh1+4'RE3,3]-'3) = 0.

7. class inAe,ped\Jevfl’ of choice of fe{' (%,G)
TqK& o Pair (3., ﬁ.)) (32) ‘:;z)
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+RLhh,] -RUlq, 3 ¥ 8,

NoTe. o A

99 L?S)T&’ ‘TYFAF"'Tr FAF *r Tr RAR - Ty @.A )
"TV‘FAF "’TvRAR-l—TrFAF Tr- FzAaf:.z
"TrRAR +Tr Rzl\f? + Ty EA F “Tv R, Aez

=0
D £33N 4> =o
D@3 ¥ =0

= RLhh1-RIg aT+p € Q" indep of
ve{evence (,'é h).




